Support Materials


Intermediate 2

Unit 3 Revision

Algebraic Operations

1. 
Simplify: - 
(a)
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(b) 
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(c)
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2.
Write as a single fraction: -



(a)
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(b)
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(c)
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(d)
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(e)
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(f)
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3.
Change the subject of the formula to x: -


(a)   
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(b)
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(c)
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4.
Express each of the following in their simplest form: -


(a)
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(b)
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(c)
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5.
Rationalise the denominator: -


(a)
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(b)
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6.
Write in their simplest form: -


(a)
2x3(4x – x-3)

(b)
(x1/2 – x)(2x1/2 + 3x)

(c)
(2x3)4

7.
Evaluate: -


(a)
163/4


(b)
25-1/2

(c)
322/5

8.
Write with positive indices: -


(a)
p-2


(b)
ab-3

(c)
(cd)-1

(d)
(y-3)-2
Quadratic Functions


1.
Write down the coordinates of the turning point. State whether it is a maximum or a minimum. Write down the equation of the axes of symmetry. 

(a)  y = (x – 2)2 + 5 
(b)  y = 3(x + 2)2 – 1 
(c)  y = -2(x – 3)2 + 2

2.
Solve the following quadratic equations: -


(a)
6x2 + 9x = 0


(b)
2x2 + 7x – 15 = 0

(c)
(x – 2)2 = 16

3.
Solve the following, giving your answers correct to 2 decimal places: -


(a)
2x2 – x – 5 = 0

(b)
x2 = 6x + 4

4.
Given y = x2 – 4x + 3


(a)
Find the roots of the equation x2 – 4x + 3 = 0


(b)
Find where the graph crosses the y-axis.


(c)
Find the co-ordinates of the turning point.


(d)
Write down the equation of the axis of symmetry.


(e)
Sketch the graph.
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5.
Write down the equation of the graph 


in the form  y = a(x – b)2 + c.


(Scale: - each square = 1 unit)

Trigonometry

1.
Write down the equation of each graph: -
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(a)          



    (b)      



(c) 
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(d)




   (e)




 (f)

2.
Rearrange each of the following and solve them in the range  0  x  360.

(Give your answers correct to 1 decimal place).

(a) 
4sinx + 1 = 0
(b) 
5cosx – 3 = 0 
(c) 
3tanx + 1 = 0

(d) 
7 + 8cosx = 0 
(e) 
3sinx = cos60o 
(f) 
5tanx + 8 = 2 tan x

3.
The graph y = 3 sinx + 1 intersects with the line y = 2.  

Find the co-ordinates of the points of intersection.

4.
In an experiment on wave motion, the depth, d metres, of water is modelled by the formula:-  D = 3 sin t + 4, where t is the time in seconds after the experiment starts.


(a)
Find the depth of water at the start of the experiment.


(b)
Find the depth of the water after 30 seconds.

(c)
Find the first two times the depth of water is 3 metres.


(d)
Find the maximum and minimum depths of water in the tank.

5.
Prove these identities :-   


(a)
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(b)
(1 – sin x)(1 + sin x) = cos2 x
6.
Simplify
(a)
cos x tan x

(b)
tan2 x (1 – sin2 x)
(c) 
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